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SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
[ 3,300
308 XAHXIGHH SO0l & 1,473,937 1,811,767 A 337,830
= 1,232,281
= 241,656
01 AIKISHHENEXZ 1,473,937 1,811,767 A 337,830
OXEZ22sHL XAt 1,473,937
= 1,232,281
o= 241,656
2222 AY 300,000 300,000 0
308 XX SHHSOIH 300,000 300,000 0
01 IXHHIMNEXTZ 300,000 300,000 0
O2222 A9 (01Y) 300,000
SE222 AU gRFX 3,000 3,000 0
= 1,500
== 1,500
202 04| 3,000 3,000 0
= 1,500
= 1,500
01 2Ll 3,000 3,000 0
O2Z222 A= 3,000
= 1,500
= 1,500
NEsagd e z2sI 2,761,250 1,948,750 812,500
J| 2,209,000
& 552,250
307 giztol A 2,761,250 1,948,750 812,500
J| 2,209,000
& 552,250
02 AI2tAMNBE XS 2,761,250 1,948,750 812,500
OXNHRES LX2FE A 2,761,250
Jl 2,209,000
= 552,250
HAE Xl #HE L FEXY 23 1,464,200 1,414,400 49,800
NELLI|Y FYW FHAXA 436,000 584,000 A 148,000
403 XX SRS K 20| & 436,000 584,000 A 148,000
02 2J| 2 S 0l CH St CH & AFR H 436,000 584,000 A 148,000
OnNELe)|g 349 FHAXS 436,000
CUOHEDI Y HEM FAE Z2ME 383,600 450,000 A 66,400
403 XX SHHMS K201 A 383,600 450,000 66,400
02 SO 2SO CHsHOH e A I 383,600 450,000 N 66,400
OEZW e - DY HEM FAE ZZNE 383,600
2030 & DHE Z=z )3 102,000 102,000 0
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M dxel HE
o EY dRe #E L FHGANHA LS (CHe &)
= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
307 glz2tol & 102,000 102,000 0
05 RIZHRI &t 3 102,000 102,000 0
02030 & OHd =2 102,000
ngeJlg ASH ALY 5,000 5,000 0
201 Let2d] 5,000 5,000 0
01 At 22l 5,000 5,000 0
OnE==J/g ASH At 5,000
SEEE FHILE3 M= 50,000 50,000 0
307 21201 A 50,000 50,000 0
04 RIZIHAIE X S 50,000 50,000 0
OSE=E FHIHES Mzl 50,000
2Rl XJAAEH XJAS 250,000 213,400 36,600
403 X SHHSA=0l& 250,000 213,400 36,600
02 SJ1 2 SO0ll CH SHCH & AF 2 HI 250,000 213,400 36,600
OielXNaady 29 250,000
2 xtel Mot X 237,600 0 237,600
403 MtXISHH S0l & 237,600 0 237,600
02 BJ|1 2 S 0ll CH &HCH & AF S HI 237,600 0 237,600
OgXtel gmatol K& 237,600
M EDIIY & OtS01Y sS4 6,335,652 6,689,176 A 353,524
= 5,820,536
= 515,116
OIS0y S4AY 656,400 617,376 39,024
= 502,200
< 154,200
307 21201 A 134,400 127,440 6,960
= 67,200
< 67,200
05 RIZt2IEt = 134,400 127,440 6,960
onsJlg 244 & 104,400
= 52,200
< 52,200
ontsllyg €8x 30,000
= 15,000
= 15,000
308 XtXIEHHSOIA 522,000 489,936 32,064
= 435,000
= 87,000
01 AXNHHZBANEES 522,000 489,936 32,064
OntsJ1eY sS4AY 522,000
= 435,000
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| [ 87,000
ANEES AFSIHEH XRAS 60,000 60,000 0
307 2iz2to| A 60,000 60,000 0
02 It A X2 60,000 60,000 0
OMIIHEI Y SHFE 28t &t&d Al 60,000
ANSIEI| S AP H KIRAY 1,344,000 615,300 728,700
= 1,280,000
= 64,000
308 MXISHHSOIA 1,344,000 615,300 728,700
= 1,280,000
& 64,000
01 HXHHIMNEXS 1,344,000 615,300 728,700
OMSEIS AFS L H XIS AS 1,344,000
= 1,280,000
& 64,000
A EDI Y Ed3 XA 35,000 80,000 A 45,000
307 S12t0| & 35,000 30,000 5,000
02 QI2t3AB X2 35,000 30,000 5,000
Ol A EIIGE AN e 2 30,000
OAZI =Y HEBS ¥ 29 5,000
ES=2Y A ZED|g SEALY 4,240,252 3,874,500 365,752
= 4,038,336
=} 201,916
308 MXISHMSOIA 4,240,252 3,874,500 365,752
= 4,038,336
= 201,916
01 IXHHIMNEEXTZ 4,240,252 3,874,500 365,752
ES=E UUAIEED|Y SHAY 4,240,252
= 4,038,336
= 201,916
=g )|=0 g4 & A XS 1,124,100 781,900 342,200
ElsdJIUg Mz &€ d=20g &= 874,100 781,900 92,200
307 212t0| & 874,100 781,900 92,200
05 QIZ2tE 2 874,100 781,900 92,200
Od=20|IsdJIs sH 384,100
ool - &t JIsdoithsl =l 490,000
NEce clazs2Ae MM 2SALY 200,000 0 200,000
307 QI2t0| ™ 200,000 0 200,000
05 QIZtRES 200,000 0 200,000
OXEc oddZ2s2eMM 2SALY 200,000
Ol HIHOIS2AX SAXEH 50,000 0 50,000
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2AM: LRl &S

N wESAAY (LNARED)

¢l =gl (chel & 9l)

x 5 - 4
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
202 o4dl 28,350 30,240 A 1,890
01 = LH o4 1l 28,350 30,240 A 1,890
OJlautl 28,350




